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Solucioén Parte 2:
Problema 1
Parte a) Parte b)
functiony = ej1_a (x) functiony = ej1_b (x)
y=1 y=1I
for i=1:(x/2) for i=1:(x/2)
y =y x-iil; y =y xiil;
if (i ~= x-i) end
y =1y, ixi];
end
end
Problema 2
Parte a) Parte b)
function y = ej2_a(v,pre,x) function y = ej2_b(v,pre,x)
| = length(v); | = length(v);
y =1 ifl==0
for i=1:l y=[I;
if v(i) == x else
y = [y, pre v(i) pre]; if v(1) == x
else y = [pre v(1) pre
y =1y, v()I; ej2_b(v(2:1),prex);
end else
end y = [v(2) ej2_b(v(2:l),pre,x)];
end
end
Partec) Parted)
function y = ej2_c(v,ant,nuevo) function y = ej2_d(v,ant,nuev 0)
| = length(v); | = length(v);
encontre = 0; ifl==0
while | >= 1 & ~encontre y=[I;
if v(i) == ant else
v(i) = nuevo; if v(l) == ant
encontre = 1; y = [v(L:l- 1), nuevo];
else else
I=1-1; y = [ej2_d(v( 1:I-1),ant,nuevo)
end v(D];
end end
end
Problema 3
Parte a)
function [Bs,Bi,Bj] = TSac arFilCol(As, Ai, Aj, fil, col)
| = length(Ai);
ifl==0
Bs=[]; Bi=[]; Bj=[l;
else
if Ai(1) == fil | Aj(1) == col
[Bs,Bi,Bj] = TSacarFilCol(As(2: 1), Ai(2:1), Aj(2:0), fil, col);
else
[Bs,Bi,Bj] = TSacarFilCol(As(2:1), Ai(2:1), Aj(2:1) , fil, col);
if Ai(1) > fil
Bi = [Ai(1)-1 Bil;
else
Bi = [Ai(1) BI];
end
if Aj(1) > col
Bj = [Aj(1)-1 BJ];
else
Bj = [Ai(1) Bil;
end
Bs = [As(1) Bs];
end
end
Parte b)
function [mf,mc] = MaxFilCol(As, Ai, Aj)
| = length(Ai);
mf=Ai(1);
mc=Aj(1);
for i=2:1
if Ai(i) > mf
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mf = Ai(i);
end
if Aj(i) > mc
mc = Aj(i);
end
end

Partec)
function [Bs,Bi,Bj] = DarFila(As, Ai, Aj, fil)
| = length(Ai);
if| ==
Bs=[]; Bi=[]; Bj=[l;
else
[Bs,Bi,Bj] = Dar Fila(As(2:1), Ai(2:1), Aj(2:0), fil);
if Ai(1) == fil
Bi = [Ai(1) BI];
Bj = [Ai(1) Bjl;
Bs = [As(1) Bs];
end
end

Parted)

Function det = DetDisp(As, Ai, Aj)
[maxFil,maxCol] = MaxFilCol(As, Ai, Aj)
if maxFil == 1

det = As(1);
else
fil = 1 % podria ser cualquiera
[As,Ai,Aj] = DarFila(As, Ai, Aj, fil);
li = length(Ai);
det=0;
for i=1:li
[Bs,Bi,Bj] = TSacarFilCol(As, Ai, Aj, fil, Aj(i));
if (mod (fil+Aj(i),2) == 0)
det = det + As(i) * DetDisp(Bs, Bi, Bj);
else
det = det - As(i)*  DetDisp(Bs, Bi, Bj);
end
end
end
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